XYZ_17M1 RG-Normspektralwert-Erregung; Y,,=1
a7m1E,0(A)= log Ky 7m1E, 6N/ (X Yw)Y17m1E, DA)]
Y17m1E,0M)=[0.517m1€,0(A)+0,5M 701, D(A)]
PO T X17m1E DA)=[A11117m1E, 0N +A12T 7Mm1E D)
13517M1E,D(N)ISA)E i ts470,00; E0O, D65
Alji 1,3200 -0,6600 0,3400 A£570
X17m1E 5=0,3333; 0,3190
yl7MlE,D:0'3333: 0,3324
%1 701E.p(A)=100,00; 95,96
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XYZ_17M1 RG-Normspektralwert-Erregung; Y,,=1
a7m1E,0(A)= log Ky 7m1E, 6N/ (X Yw)Y17m1E, DA)]
Y17m1E,0M)=[0.517m1€,0(A)+0,5M 701, D(A)]
PO T X17m1E DA)=[A11117m1E, 0N +A12T 7Mm1E D(A)
tA13517M1E pMISMg,p; tsa=0,00; EOO, D50
A1J 1,3200 -0,6600 0,3400 A£570
x17w1e 5=0,3333; 0,3424
yl7MlE,D:0'3333: 0,3650
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XYZ_17M1 RG-Normspektralwert-Erregung; Y,,=1
a7m1E,0(A)= log Ky 7m1E, 6N/ (X Yw)Y17m1E, DA)]
Y17m1E,0M)=[0.517m1€,0(A)+0,5M 701, D(A)]
PO T X17m1E DA)=[A11117m1E, 0N +A12T 7Mm1E D(A)
tA13517M1E pMISMg,pi tss=0,00; EOO, P40
A1J 1,3200 -0,6600 0,3400 A£570
X17m1E 5=0,3333; 0,3679
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XYZ_17M1 RG-Normspektralwert-Erregung; Y,,=1
a7m1E,0(A)= log Ky 7m1E, 6N/ (X Yw)Y17m1E, DA)]
Y17m1E,0M)=[0.517m1€,0(A)+0,5M 701, D(A)]
PO T X17m1E, DA)=[A11117m1E, 0N +A12T 7Mm1E D(A)
$A13%17M1E,DN)ISA)E bi t5570,00; E0O, A0O
’ “ Alji 1,3200 -0,6600 0,3400 A£570
X17w1E 5=0,3333; 0,4207
yl7MlE,D:0'3333: 0,4225
%1 701E. p(\)=100,00; 99,56

500 600

WellenlangeA /nm

CGO051-7A 1



XYZ_17M1 RG-Normspektralwert-Erregung; Y,,=1
a7m1E,0(A)= log Ky 7m1E, 6N/ (X Yw)Y17m1E, DA)]
Y17m1E,0M)=[0.517m1€,0(A)+0,5M 701, D(A)]
PO T X17m1e DA)=[A11117m1E, 0N +A12T 7M1E D(A)
13517M1E,D(NISA)E p; t5470,00; EO0, E0O
Alji 1,3200 -0,6600 0,3400 A£570
x17m1e 5=0,3333; 0,3333
yl7MlE,D:0'3333: 0,3333
%1 701E.p(A)=100,00; 99,99
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XYZ_17M1 RG-Normspektralwert-Erregung; Y,,=1
a7m1E,0(A)= log Ky 7m1E, 6N/ (X Yw)Y17m1E, DA)]
Y17m1E,0M)=[0.517m1€,0(A)+0,5M 701, D(A)]
PO T*17m1E bM)=IA 11l 17m1E, 6N +A12M 7M1 E,D(N)
t 13517M1E,D(N)ISA)E b7 ts4=0,00; E0O, COO
A1J 1,3200 -0,6600 0,3400 A£570
X17m1e 5=0.3333; 0,3188
yl7MlE,D:0'3333: 0,3220
%1 701E.p(\)=100,00; 98,99
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XYZ_17M1 RG-Normspektralwert-Erregung; Y,,=1
a7m1E,0(A)= log Ky 7m1E, 6N/ (X Yw)Y17m1E, DA)]
Y17m1E,0M)=[0.517m1€,0(A)+0,5M 701, D(A)]
PO T X17m1E, DA)=[A11117m1E, 0N +A12T 7Mm1E D(A)
$A13%17M1E,DM)]ISA)E bi 15570,00; E0O, POO
Alji 1,3200 -0,6600 0,3400 A£570
X17m1E 5=0,3333; 0,3530
yl7MlE,D:0'3333: 0,3561
%1 701E. p(A)=100,00; 99,10
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XYZ_17M1 RG-Normspektralwert-Erregung; Y,,=1
a7m1E,0(A)= log Ky 7m1E, 6N/ (X Yw)Y17m1E, DA)]
Y17m1E,0M)=[0.517m1€,0(A)+0,5M 701, D(A)]
PO T X17m1E, DA)=[A11117m1E, 0N +A12T 7Mm1E D)
13517M1E,D(N)ISA)E,p; ts4=0,00; E0O, Q00
Alji 1,3200 -0,6600 0,3400 A£570
x17w1e 5=0,3333; 0,3163
yl7MlE,D:0'3333: 0,3135
%1 701E. p(A)=100,00; 100,8
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